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Time: 90 Minutcs
e Instructions for Examince =]

| The question paner s Gioac s s
| are aIlh;qml‘:”f‘]gl:a]E:::slmwde{l nio two parts - Part 1 (MCQ) and Part I1 (Descriptive). Forty-Five (45) minutes
and Forty-Five (45) minutes for Part I1. MO answers musi be given in the OMR Sheet

which will be tak R :
':E’“E'JE‘-H_HE_F_M;_M back by the invigilator after the allotted time. Answer seripl of Part 11 will be given after

e ===
[ Time: 45 M —— —
——— '_IIM!EI— Part 1: Multiple Choice Questions (MCQs) | Marks: M}]

_ _ Section A: English Language and Communication ] 1516 = G]

bt

?h:rlc Tai;z-i:;?qd- lh.ﬂ passage carefully and choose the best answer.
golf, they m; ;ﬂ]::::ﬁrlrc who are b‘“_"f’d by almost any conversation. They are bored if you talk shop, they are bored if’ you talk
aF conversation with t!m“ talk _pc'“'”;S-- Itis men like this who loathe strangers who try to enter into conversation. This dislike
a point 1 like bores r:‘mngcrs 15 hard for me to understand, 1 think I should even enjoy an occasional hour with a bare. Up 1o
s s o : [:m:}a‘ bores are so happy that it is a pmiksu_rc 1o watch them. The waorst bores are those who Lq-.rc telling
polilics. frets o l. T::m £s Irom one place to another. Another boring form of conversation is that of the man, who, while talking
this klnél = snl:f. 5 }ht ald 1Ihrcadbﬂr: arguments with the air'of a person using them for the first time. | have been a bore of
ki Ysell. Lince my friend observed, "My god, what a bore you are.” 1 felt like pricked balloon at first, but respected my
end lor his candour. Since then no one has called me a bore. [ have learnt to study the expression on the face of people. There
are certain people with whom one has a right 1o be bored — people who are so self-centered and they cannot listen 1o anyone
talking. Such people are boring because they make one feel for the lime being an outsider.

Ihe author’s outspoken friend eamed his respect presumably because -

(#) he was successful in influencing the author’s personality.

(b} he helped the author in making him realize how he appeared 1o other people.

(c) he was & man with solid commonsense.

{d) he refused to indulge in sycophancy.

The prime abjective of the author in this passage is5 10 -

() recount his personal experiences with bores. (b} champions the cause of bores.

{c) describe various kinds of bores, (d) enunciale ways to avoid becoming a bore.

Self-centered people are bores because -
(a) they are habitually hostile or unfriendly. (b} their stock of topics for discussion is limited.

(<) they cut off all communication. {d) they have 2 single-track mind.
The redeeming characteristics in bores, according to the author; is this -

{a) they keep the conversational ball rolling.
(b) they are blissful in their obliviousness to their surroundings.

{c) self-realization dawns quickly upon them.
(d) they are happy people because they are engrossed with themselves.

). (5-8): Find out which underlined part (a, b, c and d) of the following sentences has an error.

T

1 .would have asked you for dinner if I had known that you are staying here tonight,
(a) (b) (c) (d)
To sing a song good, you must focus your attention not only on the music but on'the words as well
(a) (b) (c) (d)
She was upset last night because she had to do too many home works.
(2) (b) (e) (d)
Contrary to what had previously been reported, the conditions governing the truce between many countries
(b)

a
gnrig]_q_ﬂ_bx the United Nations has not yet been revealed.

(c) (d)

. (9-12): Complete the sentence with appropriate word(s) or phrase(s).

ill d t make news; the story has political 5 s A e

{a) unless, ramifications (b) until, bickering

). The citizenry had become so by the presidents __ that the latest 'ﬁy‘i#n‘ﬁi_p];sﬁ_ﬂd_al did not even make the fromt

e of the newspapers. e o : =
Eaffsscina ted, impropriety (b) disgusted, peccadilloes (c) jaded, indiscretions  (d) regretful, personification



wiperiarbalilidy o i foce of evidence indicating Iin deliberate friud Tailed (o reassure supporters of his assentiy)
iwtead, it shggestod o talend for Chist thoy had ngver suspecied

o 1y, b by puorbity, puile (e} reinoise, lenpuaciiy () wisdom, raproal

Brusiess forccosts ususlly prove ressonably nceurato when the asskinption that e future will be much 1ike the past |y
i Linins oof. nim)o i the basiness environment, howiyer, forecasts enn be dangarously wrong

td, Sisconiinuiies (b} questioned, wirges e} contradicted, improverments  (d) satlalied, alifis

03 1R 00) Skt e

paie et expresses 8 eelutbouship shollar to (b expressed In the ariginol pair.

FPAIN  SEDATIVE
#) Conlont | Stimulasy () Ceriel - Consolintion () Tronce | Marcoic {d) Ache © Extraction
L CIORFIDENT  HAUGHTY
o) Raminlabed - Forsakon (k) Literal : Brusgue () Providen) - Penurtous  (d) Autonomons ; Subordinate
STARE  GLANCE
Ciilp - Sip (1) Beam - Adinire (e} Participate : Observe  (d) Hunt @ Stalk
G SUBSIY  SUPPORT
(i) Assistance - Endowment  (b) Funds Fellowship (e} Eredit: Payment (d) et Obligation

Section B: Mail
CLANT-22 5 Chouse the correct Bnswer.

V(5 + 5 -t

cmitics [ 125x16=30]

{b) 342 (ch4 (d):6
L S L S L
(u) 474 (by:2** (E)i2ae (dy 2"
¢ envests Th 2 A0 00 the XYZ Bank o1 5%, How much additional money must she invest at 8% so that the total
panipl necane will be equal to 6% of her entire investment?
() Th. 1,000 {0 Th. 7400 (e} Tk, 1,200 (d) Tk, 3,000
Funite bad 1o do a multiplication, Instead of tikiing 35 as one of the multipliers, she took 53, As & result, the product went
g by Sedh What iz the new product?
(a) 1050 th) 1250 (c) 440 (d) 1590
Fime and Shils entered into a pannership with their capitals in the ratlo 5:6, At the end of & months, Rina withdraws her
capitel 1 they receive the profil in the ratio of 5:9, find how long Shila's capilal wis dsed? e
{a) 13 soonxthis (b} 14 months () 16 months (d) 18 months
A clace arts o 1000 wm and lasts 1 01,30 pm,. Pour periods are held during this interval. After every period, 10 minutes
grven freec o the sudents. What is the exact duration of each period?

(&) 42 tnin (b)45 min (e} 48 min () 50 min
A shopper spends Th 1000 1o purchase CDs at T, 20 each, The next day, the disks go on sale for Tk. 16 each and the
shupper spends Th 2400 10 puschase more CDs. What was the average price per disk purchased?
fa) Tk. 15 f-b}"rk 17 {':JT'E.- 1§ {ﬁ}T‘l. 19
B 4 salesman receives daily wage of Tk 250 and cams a commission of 15% on all sales he makes. How much tika worlh
of sles does he need to make in order to bring his total daily income of Tk, 10007
) Th, G0 (b} Tk. 5500 () Th. 5000 () Tk AS00
In & chub 60% members are male and T0% members are graduates, Also 50% of the graduste members are male, What
| percentage of the club members are female and non-graduate?
bz} 5% (b} 10%% {c) 15% (d)y20%:
o i twice ds fficient a5 Aarti and takes 90 days less than Aarti 1o complete the job. Find the time in which they can
Bt the job together.
) 30 days (b) 45 days () 60 days () 90 days
fanun bought 50 shiares at Tk, 60, and 2 months Jater, he purchased 25 shares af Tk. 56, At what price should he purchase
ditional sffares in order to ave an average price of Tk. 58 per share? & :

53 (b} Tk 54 (€) Tk. 55 {d} Th. 56
stal incomne of Habib in 2017, 2018, and 2019 was Tk, 36,400, His income increased by 20% each yoar. What was:

in 20197
LA00 (b)) The 12,000 {€) Th. 10,000 {d1 Tk, 8,000
s present age 1 two-fifth of the age of his mother. After 8 years, he will be one-half of the nge of his mother.
the present age of the mother? ; . 1l
(635 (¢) 40 (4) 50




The MEasUrern i
4 ent of a rectang
entirely (3o tha : rectangle is 16 feet by 12 feet, What is the area of the smallest circle thay can cover this rectangle
@) Irhlj— 5 1_. b nio-part of the rectangle is ouside the circle)? “ B
sg. Nt (b)Y 100-5q. 1t {€) 192 sq. fi (d) 1285 5q. 1t

T'he Perimeter i

L] ofa SQURIre 15 equal 1
: -} 5 i Al 10 :
1d i q i 1 the perimeler of arec lI:II'IRIL' | [ B : : ;

(a) 3
whl (b} 4m () 5m {d) 6m

Inthe figure, DE is p:
» L s parallel o i =1 : -
what is the ratio of AE to AL i A L irEngio ADE 3 BAIE Ot iof fripezEiRion,

ayl 2
() (b) 1 : 42 (£)1:3 {d) 1:43
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2% )

1) .2
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——— o i Section C: Analytical Ability and Critical Reasoning T [ 1AuE=i2)
Q. (33-35): Answer the questions based on the follow ing information. T EE:

—

A bus i :

et h:!:- hrx.q1ﬁp'?ll:n\_f-s on ils circular route in Dhaka City. The bus stops at the stoppages in the order from one 1o six. After

S B% UPRage 5ix, the bus retums to the sioppage one and continues around the circular route again, The stoppeges are al
Ocalions: G, H, J, K, L and M. Itis also given that -

{1 L'is stoppage three;, (1) H is stoppage six; (i) K is immediately before M, (iv]) 1 is immediately before G.
S !Fa passenger gets on the bus at K and gets ofl at L, which of the following must be true?
(3) K is stoppage five (b} M is stoppage three (€)1 15 stoppage five {d) none of these
34, 11 Xis atop page four, which of the following must be the stoppage immediately before 1.7
(@) K (b) M () (d) K
35, 1f G is stoppage two, which of the following must be the stoppage immediately before H?
(a} ] (k)G (e} M (dy K

2. (36-38): Answer the questions based on the following information.

Sweta, Swarna, Sneha and Soumiya are four sisters who have an agreement that they share all snacks equally among
themselves. One day one uncle Mamun gave a box of cookies o Sweta. Since the other sisiers were not around, Sweta divided
the cookies into four equal parts, ate her share and put the rest into the box. As she was closing the box, Swamma came in, She
!!u-nlic all the cookies from the box and divided them into four equal parts, Sweta and Swarna ale ane part each and put the rest
into the box. Just then, Sneha walked in. She took all the cookies from the box, divided them into four equal pans. The three
of them ate their respective shares and put the rest into the box. Later when Soumiya came, she divided all the cookies into

four equal paris and all the four sisters ate their respective shares. In tolal, soumiyaate 3 cookies.

36, How many cookies in total did Sneha eat?

(a) 30 {b) 12 {c) 15 (d) 6

37. How many cookies in total did Sweta eat?
(a) 32 (b) 142 )72 (d) 71

38 How many cookies did uncle Mamun give 1o Sweta?
(a) 128 (b) 156 (c) 256 (d) 192

(3. (39-400): Read the information and answer the questions.

39. Cable-television spokesperson: Subscriptions to cable television are bargain in comparison Lo ‘free” television. Remember
that *free” television is not really free. It is consumers, in the end, who pay for the costly advenising that supports “free’
television. Which of the following, if true, is most damaging 1o the position of the cable-television spokesperson?

{a) Subscriptions to cable television inchude access 1o some public-television channels, which do not accept advertising,
(b) There is as much advertising on many cable-television channels as there is on ‘free’ television channels.

(c) Cable-television subscribers can choose which channels they wish to receive.

~ (d) For locations with poor television reception, cable television provides picture quality superior to that provided by *free’

television.

“Some men are definitely intelligent, others are definitely not intelligent, but of intermediate men, we should say,
“intelligent’? Yes, | think, so or no, I shouldn't be inclined to call him intelligent.” Which of the following reflects the
intention of the writer well?
(a) To call men intelligent who are not strikingly so must be 1o use the concept with undue imprecision
(b) Every empirical concept has a degree of vagueness
(c) Calling someone intelligent or not depends upon one's whim

There is no need to be as indecisive as the writer of the above
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42 A man has $3 socks m his drrwer: 21 destical biae, |5 idoatical bisck and 17 idesticsl rod. The
s e dark Mo musers socis oo ke talir st b muader JO0 pecronsd ceTion e ks 3 P of black socks?
) Mo 33 fe) &0 "'=."£:”
Potaes &) Apple fc) Carron () Bes

If ‘Heant' n relased 1o Sestiment’, thes in the seme w2y “Head™ b related 10 -

2} Thanaimg (&) Hasr {¢) Bradn () M=y

A waich wan coffect &b Aooe, afier which o starsed 1o lowr 1?%%@”%%51?51# Wl

a) 330 pm k) 4.00 pm ) 4.30 pen () 500 pEn

s The masing nomber of the series 6, 13, 28, 58, S s g

a) 33 nw () 48 (c) 55 e I ——

——— _ Section E: General Knowledge ——— 4 —arnial
0. (47-54): Choose the correct aniwer. o

Who wis the Tt Governor of Bangladesh Banic?

{2} Lutfur Rahman Serlka (b} A K. M. Abmad (e} ANM. Hemidalh  (d) Motammad Nanul lsizm
2% Horw many war heroes have been wanded “Bir Utom™ for their contribution Lo HDoralson war of Bangiadesh?

{z) &9 b} 158 (c) 175 (d) 426
49 Who is the founder of Gmail?

{2} Prul Bochheit (b} Elon Mok {c) Jery Yang {d) Sergey Brin
£0. Which day is observed ac World Wikdlife Day?

{2} February T - by March 3 (c) April 18 {d) December 7
¢l Who is the first Musliin woman o win the noble peace prize?

{2) Mother Teresa {h) Momica Ali + (c) Shirin Ebadi () Benazie Bhutto
52. How rr.an;.rd.a;ff.rh:Em':hukﬂm:mﬂmmdlheSmwmfplﬁ:mmW?

(a) 365342 days (b)) 365.242 dxys ) 365422 days {d) 365.243 days
53, Who is the current coach of Pangiadesh National Football Team?

{2} Fossell Domingo (b) Fabio Lopez {c) Maruful Hague { &) Jemie Day
£4 Which desen does “The Great Wall of China” pass through?

(a) Atzcama Desert (b} Sahara Desert (e) Gobi Desert {d) Simpson Desert
“Time: 45 Minutes | Part II: Descriptive [ Marks: 40 |
()-1: Transkate into English. 10
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-2: Write a paragraph with a suitable title from the words given below. 10

mation, Apps, Plastic Card, ATM, Mobile Financial Services, Virtual Banking, Environment Friendly, Cash
it Machine, Internet Banking, Hassle-free.

“Fifty years of Independence of Bangladesh: A Journey Towards Dwnbphsﬂ:.ﬁuf 20

rile an cssay on



